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2 CemBm® ym DRewsy Gmnd 3 Bl sOAD 0 BB Beens »E HBw. @@
3ED O e (Control Structures) eces »€s57eD,

1. e ©w.-Sequence
2. Ddenw.-Selection
3. g 8mSena.-Repetition

8 #Femdn®w 88vemm BHOeEwx DO
s308mmyie BOE.

o® wewo Svw Bbedned wewsy sEmE HOEEID ¥rd DD WO
&>.

» EDE HOEDD 1BD WIDHW

> vwesidx .- (Identifiers)
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O DE-@ WEHIOD BEWI ¢ LVT€H
FirstName , Middle_Name, Last Name, Sum, SUM, Total Nos, Numl,

O DE® @5NOD WEBIOH WL BEWI E LN
9ABC, $125, Average Marks,  First Name

> DOeFD 1r18DE I8D WO BOOD D Yo

Integer - Q) 0] wags BIE woaso (y&en o)

Real - 0B @nd waeh DI 303150 (RO e30515/DeBFOD GoWBW BHD GOBLY)
Boolean—  True (esm») ewd False (gewms)

Char - R ® amcHeenen

String - B O OO

10




O &¥m YO8 BEWI SN

Integer — 0, 84, -12

Real — 0.0, 25.68, 2.40E+13, 6.52E-18
Boolean - True oew»d False

Char - @, ‘#, ‘7

String - ‘ICT", ‘programming’

©Ow : Char ew® String wm ¢ yGie wewor e@wts OB gonwwsy (Values) * ' ¢&)
@2®a (single quotation) nE ¢FO&E.
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eC®H DO WSB. E®E $ede BOES ¢80 DO wewo “var’ s DOm® @wi .

coi-

Var count :integer;

Var a,b : Real;

Var nl,n2 :integer;
Avg :real;
Pass : boolean;
Character : char;
Name,school : String;

o Bae» - (Constant)

DOeEI® Bwis®m 0 O HESTOH® 8w BB B¢ dOWSY eOMmE 05005 NEBIDB), BwbD
@R D@ WOB.5EW®E wede Buwn ab0 ¢Fd® wews “const” wm OB ewitr ®A.

Coi-
Const Avogadro _Number = 6.023*10%;
Const pie =22/7;

¢ z06m - (Operators)
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eI
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ceoi-
(3>=2) AND (3<>3)
3>=2 em15 ©0. 3<>3 gewms ed.
01057 ©Om ymrw ¢ gems @d.
P e® ecomsy @D Danewsy O ymaes ovd awms §80 AND mome eds
YWIRWE gwmB @D,
P YR @O w5 OB @@ AND mocme u8m ymorw wms @d.

e OR momae

“se8 ymnw OR 0¢dn ymaw” ocen B ewity) AEB. 982 sgf v 0cdm Yymn
oo end gums 8® amd OR midme 0iBe®s credn yBOCGE wms ewd gwms
@D.59m D90 ©8xsY OR midmed BwimBdae ¢ifed.

BEY y@IRW @B YIMR®B 8€8 ym®nw OR 0cdm gm®nw
e e eSS

eSS eBS e3BS
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WD BB BB

ceoim

(3>=2) OR (3<>3)
3>=2 e3m ©@d. 3<>3 gesms @D.
O BT ©3®dm YR s ©D.
P en ecomsy §D® Dnews’ O ymnw owd wms §80 OR mdme
8B Y@RWE BB @D.
P 0@ DO gums OO 8@ OR moma 6fn ymonw gems ed.

e NOT =icme

25:® 80O wm1s YW NOT 00w OB5Y qens eRH ¢BOD B0 GBS YEIRWH
NOT m0mw @8xT wns e ¢Oi.

YPOR®B NOT (gmo®ce)
EOBNS DS
OB eOBNS

c¢i- NOT(5=5) gesms ece ¢08.
> 0% 38D

DOEID D18 Bwrs®m Ded8 momOE yfam a8 s 0.

Ym0 ©IV® O
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ce:l. 5+15MOD 4 ce:2. 3+7DIV2 ce:3.16/4%2
=5+3 =3+3 =4%*2
=8 =6 =8
co4. NOT (8 MOD 2 >)5) c6. 5. 4>=4 AND NOT ( 7>9)
=NOT (0>5) =True AND NOT (False)
= NOT(False) =True AND True
=TRUE =TRUE

230025y SEWE HOCCEILH ¢R-@ §B® e,

program add Num(input,output); «  »OeFared »H®

var numberl: integer;
number2: integer;
total : integer;
avg: real;

Begin

—» Write(‘“Welcome Pascal Programming’);

BOE® N8O

) @O Fao®WwW

(* calculate total and average of two numbers*) >805 e ¢35®
— Writeln(‘Enter First Number =’);
Read(numberl); < .
— Writeln(‘Enter Second Number = ’);
CRlal Read(number2);
total: =number]1 + number2;
avg := total/2; \J’ B0 ednm yme
— writeln(‘Total is =’ , total);
—— writeln(‘Average is =, avg);
End. 5B @O O3B

@®8 “program” w2z ¢O01€n BewA.

“input” e “output” wm e weed.

“add Num” w5 »wemfomned. 0@w nPeEaed 500xa.

DOeEeE 590w w®w® DOwsY BE input,output @Ce OO amsd@s ©50ed.

aacomd eewo read() e readln() §» ©:8m 8.

Read(numberl); yzmoae ©8= numberl § S80Es wewr ¢ofm gocomw »OOR.

readln() ®8=7 ¢fm acamde 6 ey »HO edgum 8Ow.

gBcomw escwo write() esw writeln() §» 98 m»o&.

Write(‘Welcome Pascal Programming’); gmone @83 Welcome Pascal Programming
5O § ) @208 YBLBIW WOE.

writeln(‘Average is =, avg); ymaw ©8xY 50 ed€wm Average is = @2 8l e
6O avg SOEBeE 0w YA WOE.

> nPedded BwdEw ¢eds yma:-

gRWE® eEOeY semi-colon (;) @wicy) C1P® O8xT OO ymrw ¢dwsy D Bwed.

total: =number] + number2; w» ymrrewsy Bwedsiesy numberl w» number2 SOExs
@con e0wsI Omn WO total O § BOEBWO BOIH I POE.

14




13

e “:=" Assignment Operator ece H¢s30a.

(9  &Cem8n® w0800 BBO wews @D Dy HIBmHE )

> 8Os BIED Dywe 88 HOeEd

FHC@m0mOwm 8B Bwdo BBusww owd 8uEE © owd quddwm Bwddm 80 g
8w ¢wion @ug 80 sued vomEeE anB8Ee e Fuwin'®m J® arnn®w ect v8sied.

ceai- 1. weansn eemas Swn BBO

begin
enter first number
enter second number
Total=first number+second number
( Start ) display Total
end.
v D102 @ms

Input. Number 1,Number 2 program Add Number(input/output);

var Number 1:Integer;

v Number_ 2:Integer;
Total = Number 1 + Number 2 Total:Integer;
begin
writeln('Enter first number');
v readln(Number 1);
Print Total writeln('Enter second number');

readln(Number 2);
Total:= Number 1 + Number 2;
writeln('Answer is ', Total);

y
( Stop ) readln;

end.
@8 E HOeEdw

O8O ©Bov»

15




> o388 E® Dyve (Ddemas)-Selection @8» »H®eEd

HCeMIDOWD FRED eBIedBwn madn 88 owvd 0%d® end axd FHwTO® BE ¢¥B
Bwdd OB ¢ wsim Boemw D5 gdedd Ddenws o HEed. D0ty 88n HOCEIWS
eI8® BED De 8B HOEIGE e N Es5IeD.

> emsiedBe madn Driesy 50 s®®mE Yyrw Hwrsl®m 8 80 goc yBICH A 0¢8.
(IF, THEN e END IF gzox)

emsTedBw wms
@d¢?

ymo®w 1

A

008 emsTedBw matn DxYesy mHO v Soman _1 0 ¢¢c yBORS A ¢l.

G 2. FBB WO 3:DW0 DB 8308250028 5O B W OO DO Feevw BTO.

( a#0®0ncs )
A 4
/6506)3538 (N)aocome mdm"m/

Program positive No(input,output);
w2200 (N) >0 ¢ Var Number : integer;

? Begin
Writeln(‘Enter Number = *);
Read(Number);
If Number >0 then

/ 83002500 Geenw OB / Writeln(‘Positive Number’);
readln;
< End.
Y 16
( DI ) 818 E »HPeEdw




180 20v®
> 200n e¥8® (D0em) BR® DYV

o a0 omsiedBe madm Oxens’ ®»O® ywoaw l¢, emused8e madn emned »HO
gRW_2¢ Hwort®m mom CIB.

emsted 8w B
wos ede?

YORG_2

ymoas 1

v
G &t 3. 800007 2653 WE OO OVewosD Ve oD, S0 wedudale

B5I® ©Bd®
/ InputNumber/

A\ 4
Is Number / 2 and
Get Remainder

Is Remainder = 1?

Yes
Display“ODD NumberX?
No
/ Display“EVEN Number” /

>

A\ 4
End

®1B8® 20

program two(input/output);
var Number: Integer;

begin
Writeln("Enter Your Number =");
ReadIn(Number);
If Number Mod 2 = 1 then
writeln(‘Number is Odd Number’)
else
writeln(‘Number is Even Number”)
readln;
end.




> oOE BOEwemO Ay emsiedB ¢ 80 NESTED IF ©:8» O gomodwe

O SO emtedB BBuw @ eBOmO Cr O ¢dddm & IF ymiamw emistedt
OO FHE D10 e w 0ed®0 8ged. «®H8 IF ...THEN... ELSE... ENDIF ox%® &2
OB D26 ®HHO &I Dl B 0wdw ¥ne. ©®w Nested IF gmoa widne ece vi8sled.

ce- 4. glocerned Dees @cme S @B 50 & 9y od Dwd e o= 5e.

/ Input Age /

Y
If Age >= 187>
No,

If Age>= 07

/ Display“ERROR AGE/
( End )

®1B08 20ux

Display“ADULT/”.L
Display“CHILD / ‘

program three(input/output);

var Age : Integer;
Age_Group :String;
begin
WriteIn(Enter Your Age =");
ReadIn(Age);
if Age >=18 then
Age Group=“ADULT”
else
if Age >=0 then
Age Group= “CHILD”
else
Age Group= “Error Age”
Writeln("Your age group is ', Age_Group );
readln;
end. 18




©® 350 38 wE® DyYw evds Diemwe-Selection widm O» HOeED goand eemBsT
atdwe wim.

1. B0 e33O B Dywvwe-Simple Selection
2. Y e5I8® sEm dywwe-Multiple Selection

C¢ 5. BBx® Bswumd Bredn CHOD CRH POD@ B 80 80 g0e ogddhs ooin®
BBO.

C®E FIODDB WOBIB)

e0@8S@="Error”  +—

©0@80e="A"

830@80w="B"

program Four_Grade(input/output);
var Marks : integer;
Grade : string;
begin
@o@Sw="C" writeln(‘Enter Marks = );

read(Marks);

if Marks>100 or if Marks < 0 then
Grade ="Error”

else

if Marks >= 75 then

e0@080w="S" Grade = “A”

else

if Marks >= 65 then
Grade = “B”

else
if Marks >= 50 then
Grade = “C”

¢ else

if Marks >= 35 then
/ 2080w yBemIB WIBIB / Grade = “S”

else

Grade = “W”;

@DeBIS 19 writeln(‘Your grade is =, Grade);
readln;

End
sE8wE HOeEDe




®18® 80®v5

% oD DOEHO®O Y emsiedB ¢ 80 swyedsy siEHE HOeEI® BE@r1emw B

wewo Case Statement 908 02 @m0w (9D VS T®W @WI EHBY G)
@8 &IF ....THEN... ELSE... END IF %%0» 530 @wi¢o o(BOO gdaxs ezned.

program Find_Grade(input,output);
var Marks : integer;
Grade: string;

Begin
Weriteln(‘Enter Marks =);
Read(Marks);
Case Marks of
0..34 : Grade := “W’;
35..49 : Grade := ‘S’;
50..64 : Grade”= ‘C’;
65..74 : Grade = ‘B’;
75..100 : Grade := ‘A’;
Else
Grade := ‘Invalid Marks’);
End;
Writeln(“Your Grade is =", Grade);
readln;
End.

3 5DEBDB/ B EW®SD) BIRD DYWw 88D HOEH-
(Repetition/Iteration)

B® csecd @0 O DI VW OB 53 OD WD BBEOO YetrDE®B) YKL
@waco ®1@BT.

3580w D0 M) BRODD ¥ @DEDRE ©dn
OB Yo dmoen »OeEd
FOR - DOd3vs (38 n®ws)

Syntax : For 80csw = ¢0®@wm ¢vw to ¢dwsy gvw do
FOR <Variable Name> := <Value 1> TO <Value 2> do

@8 Ocsw/Variable , Value 1 @» Value 2 0¢ ¢ofm yoiow ybes woansi-(integer)
gomnded w6 ¢BE.

go8moene 80@wd® wewo Value 1 8 awnwd D& Value 2 8 avw & Se gne.
go8mdenw Value 1 88x7 @ac®w» 8 O amd Value 2 08z ey omed.

©18s3 FOR — DO D3 98m »c 0 ds¥esy godmoens 02 830 0ens) BEOnD
e5I5N HOEEH @M B0 e &.

20




yoEmOe D[H® 0@V OB a0t 8ma 3o OB
Value 1 Value 2 D6 OB
FOR X:=1TO 5 DO 1 5 5
FOR X:=0TO 4 DO 1 4 5
FOR X:=5TO 10 DO 5 10 6
& 6.t 1 80 10 ¢80 e300 eenw B

Program print Numbers(input,output);
Var  Number: integer;

Begin
For Number :=1 to 10 do
Writeln(Number);
readln;

End.

8518w E HOeED®

e o®832 Number 80cs agow 1 80 10 ¢80 amwin ocs 0D eO8sy yBme
OB 850 YHEWOB 0 crweH BwrdOm @d.

% FOR -DO d39s (e¢d5 5®ws)

Syntax : For 80exsw = g06®wm aow DOWNTO ¢dwisy ¢ow do
FOR <Variable Name> := <Value 1> DOWNTO < Value 2 >do

o u»dmoens 80@wd® wewo Value 1 8 enw Value 2 8 gowd D8 018 Sw gne.
o ym¥moenw Value 1 O8»Y ¢d®@w O g¢md Value 2 08sY gdesied.

y8mSen D[ &0 ® OW 2080 GO SEolorotelontd
Value 1 Value 2 D) D6 BB

FOR X:=10 DOWNTO 5 DO 10 5 6

FOR X:=4 DOWNTO 0 DO 4 0 5

ce7: 1080 1 ¢fon gowst yhome B3O

Program print_ReverseNos(input,output);
Var  Number: integer;

Begin
For Number := 10 DOWNTO 1 do
Writeln(Number);
readln;

End.

518®E »OeEDw




@®8B8 Number 80cEsed aonw 10 80 1 ¢Fd anywn oG 0dme 0O8x yBomae
OB @m0 D0 ¢ W YOHEWOIBIB HWodOm @d.

G 6o 8: 30050 ¢ oYW S WD 9% 30N ©ELD®
program total avg(input,output);

var

Begin

end.

Number,Count,Total : integer;
avg: real;

Total:=0;
for Count:=1to 10 do
begin
writeln(‘Enter Number = ’);
read(Number);
Total:=Total+Number;
end;
avg:=Total/Count;
writeln(‘Total is =, Total);
writeln(‘Average is = ’,avg);
readln;

% For - Do &390 gec swn 8 18 s1@8nc ©0eEd amnd midm Jewmien
00 310¢ 0w BB enw WO OO HOED BwWrd®®m D) gozase
eBG® O RO ¢ xfesrn HOBIH.

program star1(output); program star2 (output);
var X,y:byte; var x,y:byte;
const st=10; const st=10;
begin begin
for x:=1 to st do for x:=st downto 1 do
begin begin
for y:=1 to x do for y:=x downto 1 do
write("*"); write("*");
writeln; writeln;
end; end;
readln; readln;
end. end.
81E8E BHOED gom -1 B1EDE BHOED gow - 2

program star3(output); program star4 (output);
var x,y:byte; var x,y:byte;
con_st st=30; var Z:integer;
begin const st=10;
for x:=st downto 1 do begin
begin . for x:=st downto 2 do
for y:=(2*x div 2) downto 1 do begin
.\i/nte(' "); for y:=1 to x-1 do
for y—l to (St-X) do Write(' |).
begin for y:=1 to 2*(st-y)-1 do
write(' ); :
(- write('*");
write(™); 22 writeln;
end; d: ’
writeln; en e
readln; end.
e A




* 35O D10 B BEOIHO ©@50¢s5IvN SO RE
0O WOB Y EWIw HOeED

* While Do oy®a.

o Wi @d®Nelde® emiztedie ol W0 emisiedie wms OTeIHO
80 WO W Go®» ©d. emsiedBe gwms Dxlersy »H® BBSeOm yordmoens

08 ©50d.

o yo¥miens ¢dwsy OO wew 83Br OB B¢ emIedBw awns Ov YR® .
o yodmdeme 8¢ O OO0 emstedBe aums ©50ed HO® guddnmn Do v
godmcens od.(infinite loop)

c9: 1 82 10 ¢=f00 eso@0 B comds BTO.

Begin
’ Number=0 Number = 1
while Number <=10 :
Display Number <
Number = Number  +1
End.End while Is Number
23028 @3> <=10?
program Display_10Nos(input/output) yes
var Number :integer;
Begin Display Number
Number:=1 i
while Number <=10
begin: Number = Number + 1
writeln(Number) |
Number: = Number + 1
End;
readin i
End. ®18® ©owx
s18wE »OeFdds €
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PVD VMW G

Number 80cEsed 86@vm avne | 385 emiedBw wms 0. 880 gHdmoeras
&10®® O @50 YOGS W O ;@ Dadw 0e0® Number 8 ¢o0wd | & dmr 0085y
Number 80cveed gnw 10 O w@i 05 on ymdmoenwe 8¢ed. & gm® Number
BoEvesd aons 10 ewd 10 © afd @B 80 yodmdens ¢Bw vwim. Number d0Esed
aow 11 § 80 ym&mdens OO 0B, O D5 008 yRmw eces 1 80 10 ¢xdds § eoass
eusyO&.

¢ 10: e300 ¢ws @camdw O OWBO 3 eDINBW ©wdO

( Start ) Begin

v Count=1
Total =0
Count =1 while Count<=10
Total=0 input (Number)
— Total=Total + Number
i< Count = Count + 1
End while
Is Count Average=Total/(Count-1)
<=10? Display Total
Display Average
End.
D302 023D
Read Number program tot_avg(input/output)

var Count: integer;
Total: integer;
Number: integer;
Average: real

|Total = Total + Number|

- Begin
| Count=Count+1 | Count 1= 1
| Total :=0
while Count <= 10
A 4 begin;
|Average =Total/(Count-1)| writeln (‘Enter Number = )
l read(Number)
Total=Total + Number
Display Total Count = Count + 1
End;
v Average=Total/(Count-1);
Display Average writeln(‘Total is = >, Total);
writeln(‘Average is = ’,Average);
\ 4 End.
(Stop ) @ 8® e@0wm sE@E3nE DOedde
program test_star();
Uses Crt;
var line,stars:integer;
begin
textbackground (green);
textcolor(blue);
» While - Do &3»w0 @cc line:=1;
008 wEHE BOeEH® while line<=20 do
BoosOm w6 yBemae begin
BB enws 0 O® stqrs:=1; .
9Bems @EdD gumss Evhl}e stars<=line do
eBG® B0 s cein write("*):
DO, ’
stars:=stars+1;
end;
line-=line+1-
writeln;
end




“* Repeat Until &y

c Q. 11:

gy dmoemw B0 @B Yywoa O D0 Hwod®m Se®n ©ed emsiedBe udmw
O emsiedBe guns O¥eny 5O v YIS emw &ddH 8 emsTedBe wms
SO w008 ym¥moenw ¢dwsy WOE.

g dmoemw D5 @nd Didede emstedBe wms ©0ed O &uddnm D18 Ve
yo8moens @d.(infinite loop)

Begin
| No Count=0;
Repeat

“Pascal Programing” w» 20w BSes 00 §dcenwe w3 oB®.
Start Begin
Count=0;
y Repeat
| Count=0 | Print “Pascal Programing”
> Count:= Count +1
y Until Count>5
/ Print “Pascal Programing” / end.
v D028 @D s
| Count = Count + 1 I program Print_Pascal(input/output)

var Count: integer;

writeln(‘Pascal Programing’);
Count:= Count +1

Until Count>5;

end.

sEdmd »OeEds

> n0eEdwe Hwwust®m O 80 §¢ ¢duded Count 8DEsed 3:6@wvm evnw (0 0d. ©80 ‘Pascal
Programing’ wz 20mw Bdw ©n ¢Samas @d. 850 Count 8dEsved ¢nwd 1 = dmn 8 Count
BOEved anw 5 O BonE 00 8 8w »dB. e®ed Count BOEsed gvw 5 O enw
go8miens 8cdm anc Count 8 ¢ow 6 § 80 yordmoens 88 5HOA.

> & and godmiemns 0B85 80 ‘Pascal Programing’ ez D0mw Bcw O 6 00w ¢amw od.

C Q. 12:

1 80 10 ¢z500 § 30150 Geenw S OB3O.
Start Begin
Number=1
y Repeat
| Number =1 | Print Number
> Number= Number +1
y Until Number>10
/ Print Number / end.
v D028 @3> s
|Number = Number + 1| program Print_ Number(input/output)
var Number: integer;
Begin
‘ No 25 Number=1;
Repeat
writelnMN\nmher):
yes Number:= Number +1
Qton Until Count>10:




PVD VI TWBO GO

Number SoEsed @d@wm a¢vw | 0d. yodwmieme OO ¢8 ywie O O
Bwost®m »oB. ©80 print Number gmonwed a¢m® Number 80Ewed ¢00wm ¢ow
O 1 Yeenw 0d. g0 emstedBw s88 O gwms 5O ymEmoene §0d» O gnd
godmiene O 9® 0w ©0e® Number & e¢owd 1 = dmrn @087 Number
Boevesd gnw 10 0 ens ymrdmdens 8ged. & ¢m® Number 8dcEsewd aonw 10
ews 10 O 28D @B 80 yodmoens ¢Bw wim. Number Socsed ¢ow 11 § 80O
g 8moene 8O mHOB. 9 D5T 008 yBcmw ece 1 80 10 ¢wfdn g eeass ewsIDi.

CIO. B&E» BEH 89329)

o¥3® endrf Ddemw 0wl PBIWMOeme @ OB OHE HED OXY HEEMEHOeS
(010090D) 010w ©m OO BOIID WO KD BBOO Bedm gD vOA. e®B8 Dienw
BC 8o ww Bcd® owd yH&moenwy 8cdm gmd O DoMWMD GHOE EWBTEOLE B8eHO

»0 05 BodBsY Bcdw w6, 0@ »FDGsY wdenw emIHNT CIDY HOeCEH BED

2R DPpe ©8n HOED e W Es7ed.

o D06 DE PYHEIDO B DIBDE.

> O0emwm emsiedBuen madn 8O euvd 020d® and yrdmdiamwes Bde wim.

ce. 13:
8 oy @m0m0 musen B¢n BA6O ames OO ¢w anc® 0 ¢ 855’ ¢wbs’ o8 cesdd
@00 DT BSeEI®I V@IEIID ©1¢:800 eIt vy ERBESS

KD

% a.eue (C.oug )dwInn B0 B3O eww

o0 BeniBln 085 ¢d.30m dNOTer yEm 25 wOOm @be on SOsencD
8BeE® ydm DE0 BOce 88nor wuwr BI® ¢ udm e¢m® wegd e B,

a.0.8(c.00¢) Bvos 60D O 83w¢s @be on u8msesed (On-Line Test) 8wuc® gd» DO
B0eD 8mor 800 gewmiemiws § 8gs’ el emindT mwsen ESeEi®d  emic
e3®Ee5. DeuBled cwt emomC] DIEsen IO 8’ emids oFe 8gacg
21Ce0I8mO6 svm O8O wowes’ ¢ed.

0188 ©80nes’ ©8@HS B8 eng® DR #¢cd Bowe abd ¢SO svm 88 8.

¢ 2.000.8 (C.08¢ )DDING BOS ¢
PASS G.C.E.(A/L) Examination ?

* NOben Em RO BTt ¢z £10 versd
Count = 0
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o 3w g@meO ¢33 BET HBOSE ¢
Correct Answer is the Next M.C.Q. Question ?

o D ceed eI0RT] PIEBe DBeEI®I @IV 8 arD.
Your Are Selected For Advanced Diploma in I T Course

* D el EICRT TSR DBEEI®I @IV @38 .
Your Are Not Selected For Advanced Diploma in I T Course

PASS
G.C.E.(A/L)

No

Count = 0

»
>

Correct Answer is the
Next M.C.O. Question ?

Count =Count + 1

¢ Your Are Not Selected
For Advanced Diploma
in IT Course

Your Are Not Selected For
Advanced Diploma inIT
No Course

Your Are Selected For Advanced
Diploma in IT Course

* OB OB® BOVHD &cE D10 EWBEG Y HEWE WOCEI® 9edux mOsIH.
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co. 14 s88cmed o500 and yBome Gedives ol gdedines 0o
e ®OwE o ORe.

008 1E¥mE BHReFR® s¥nm ced. 80 g O8O wOwm ¢ Y DY WD
Bwo eSO,
program orderNos(input,output);
var  num:integer;
cho:char;
begin
writeln('Select Assending(A) or Desending(D)');
read(cho);
if cho='A' then
begin
writeln('Asending Order");
for num:=1 to 6 do
writeln(num);
end;
if cho="D' then
begin
writeln('Desending Order');
for num := 6 downto 1 do
writeln(num);
end;
readln;
end.

O8O e D308 e B!
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15:

B3 eORY wly i) wmzs (ATM Card) ©dm 20853 »® Ao Beqed®s’ §eE @R
O Be® DWeo 0 B¢ oD @DEODS Bowmw O @CeeBHOG®O @G

O B® woved svm (ed. e®® BEDwd e € B oE® ©wow®m gy eWI’H
2BBEHS 0 O8 BEDEO @

i. 9118 edmas
ii.  o@CE ®PeEdw B ¢Bosim.

Input ATM Card

12
Get PIN Number

v

X=X+1

While Incorrect PIN
And X<3

Get Amount

'

Y =Y +1

While Amount > Balance
And Y <3

If
Balance > Amount

Withdraw Cash




15088 @IS

1EDCE BHOEIHS !

»* 3EWC®B HE DS} WIDBA.
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ceo. 16: BBwe® e 108 Bwdr O OF 0091500 A esedsdzt (positive number) ¢
wagh wedwd (negative number) ¢ ol 008 O Focd (zero) ¢ esIm
Geomw BB e Bwuwsd ¢ D108 emw (pseudo code) esnBst ¢ised.

l. o®® D108 ene wewr o8O wows (flow chart) ¢ ¢OsTw.
2. 0¥ :8dBw ey § BEmE HOeCEI BESrenw mOBI.

Begin
Count=1
While Count <= 10
Read Number
If Number =0 Then
Result = “Number is zero”
Else
If Number > 0 Then
Result = “Number is positive Number.”
Else
Result= “Number is negative Number.”
Endif
Endif
Print Number, Result
Count = Count + 1
End While
End.

O8O e0wnmy: S EDCE BHOEIB




ceo. 17: onc armdBs eces @8 @we wews s gEE® B0 @B awee®@moDs5T &wnEmd
RYsTed ©aBm 1cw® D o 8w B ww G wocdamw BIOD g #1CevBHOWD
D108 emw-(Pseudo Code) eswm ¢sed.

Start
No. of Applicant =1
Do While No. of Applicant <= 50
Input Name, Monthly Income
If Monthly Income >= 25000 then
Loan Amount = 100000

else
If Monthly Income >= 20000 then
Loan Amount = 75000
else
If Monthly Income >= 15000 then
Loan Amount = 50000
else
Loan Amount =0
end if
end if
end if

Display “Loan Amount”
No. of Applicant = No. of Applicant + 1
End While
End.

@ D108 WO ¢E ME® wWlV® N VHEWE BHOeEIB BESITW WIBIB).
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cé. 18: 888w B85 qucome W0 CAD e VFen edsc? , @00 eod10¢?
BWBIB WEBN OBO ¥ VFer w1 @O0 e Y 1w DD OO OB
BBO.

R/

¢ 000 #EeBHOWY @NE HMEHE BOECEI® vHD Wed. o8O
0w g1¢ Osenw Bwr ¢OsIn.
program rep_sel(input,output);
var num,rem,count,e_count,0_count:integer;
begin
for count:=1 to 10 do
begin
writeln('"Enter Number");
read(num);
rem := num mod 2;
if rem=0 then
begin
writeln('"Even number '),
e _count:=e_count+l;
end;
else
begin
writeln('Odd number ');
o_count:=o0_count+1;
end;
end;
write('Even Numbers are ');
writeln(e count);
write('Odd Numbers are ');
writeln(o_count);
readln;
end.

®1B8® wownn: D508 @SB




c¢. 19: Begsics Somced 11 egdmed 5200 eFamed O wcwvs! 8uxsd 40 ecovyn od
@GO ©wONsY WOB Gde Bedm FECeEMCHOWE ©wm OE® wOVemsY
euIT® WOB. 85I ©0 YO PHm BBIBWO e 598 eCInrws’ viBewd Bwsy
3002500 @800 BB Gt OB, ©:® Begeded® »® Bwds Beyds uBen 838 »O,
90 ecFmed dyed »HOO 988ecwsy 1 Emey Wo» amd, 88 »HBA® 0 Cwea
®OB. 00O Hwin®w sriBed Bwed® Bysd wews 8¢ O @dwimede 8 8O 8oy

830025000 WO 3ocERHB WOG.

N — No. of Student - sx3Bed 835 G 3001500

Total - e:8en 835 Beggsy weds0ed S®HO

1. o B® wowesy A 8O F ¢ 8ed mizd DO ggey DodB / 005/ ewd gonws’ Bwo

eBOBIB.

. ©8® ®owesy esxIn® mO® FEEMEHOW ey 0 eFHB 8y HEHDE

DOeEI® Bw ¢FOsIH.

(e )
!

/ Input No. of Student - (N) /

\

Total =0, Std_ Count =0

While Std count <
(A)?

Seen Bursw od O O OS5I

Buswr 38en
83¢?

500 988ewsy 1
CBe HOBIB

Total = Total + 1

500 988ewsy 0
Cmen HOBIB
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| Std_count = Std_count + 1
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ce. 20: B¢B dmum cd®mD ED Hwdd @cd Gesewn) D85 BE@reww m»E
s8es0wr wewr § 0188 wOHwmE D ¢Bed.e08 Wy @08 ©188 wews ¢EewD woesw 4480
C 80 5000 C ¢z 2.

1. o 8B® wowersy A8O E ¢t Bedosy yodxsin

. 08® 80w @ D10 W 8¥ EDE HOeEI® BusIn.

( Start )

Y

.

Is power on?

C Ston

| Check temp |
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Ql. &00® - (Arrays) )

8000 @y DOEs BBuwm O@ROE. OO yGiwwd gws ¢Bn OO DHOW ©wInB sy
O BE MBIy BIOO 860D ©8n emed.

OO ol dwr ¢ OO HOW ©wWOBRBE Enww HE B @8 BEOO ¢GHd WIBH WHOA.
OB O O ¢H®W wewr 0D DD TOEL OGS EDRNDD BB BOES 510w wden
2D®S Y rewwmO ¢ mOuny BEOO ¢cedw 1widn emed.

DOeCEImeEe ¢ Onww RE M O@u BBOO SOEL WDn BIO ¢BNEw ©d. LedT® O®

DORLE e 8Ly D YGiBRw BOBB GG, OO D YGiswd aws ¢ m s BIOO

5857 O Bemym 0dme DOES @nws gdws .

ceo- 38em @ 5 i Ooww RE »Ouy BB wewr BOEs 5 & gdans ©d. HOOB SOEs
B0 B0 WD LB GIICEWST NVEBIDIEB GI®.

Var ab,c,d,e: integer; eund
N1,N2,N3,N4,N5 : real;

% J-00 860D

-0 3000 @)% oG BEOD yOIww®m IWO yGBw®O gws ¢n »@ss BB wew
©0m WOD D OXDWA.

800 OBsT woe O gO® W eDxY WS ®A.

-2 @000 Bwm Beds ¢wydny eI 8w wz.

Syntax(mom 88w) :
Var <Name of Array>: array [first value .. last value] of data type

c¢:-  var marks : array [0..9] of integer;

008 & yem w0 evws’ 10 & enes »Ew® marks »® g @cd wed.
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* 2000w O - (3DwWd) wRed BBOG.
o 2000w cSame evd aBEGDE gome ¢bed MO wdwW ey DSVET HE ¢WOH.

ce(1):- Var X : Array[0..4] of integer; Oz ¢ced gy@renw 5 B.
O X[0] 80 X[4] ¢cxfon 8Dwd 5 By 30538 @d.
o om0y DoH® RE Baww ¢BOT) CIEB.
o 30D WEHIELm BHOW M OF ¢Bam BB umw edmes @d.
ce(il):- VarY : Array[1..5] of integer;
O Y[1] 80 Y[5] ¢cafon 8Dwd 5 By 650538 @d.

o OO YGBWWO gwr (B 8O gced M O®u mE vB®.

* 30D An® Dwdw 0On avd ocw BO8O0 VBw6. YOS yHEW®Sem BEH
O ©8sT @00 BWLgedsy BICHS WE NVIBE.

ol xo) X [1] X[2] x@ | Xl
0O gDwd®W 30305 DWBO®
(¢80 ¢Somw) (018® cbame)
| v
ot i Y[1] Y[2] Y([3] Y[4] Y[3]

c6. 22: vxiBem 83 8gsy 40 ecommed ICT cmen Dm0 - Array anes B5e.

var  ICT : array[0..39] of integer;
marks : integer;
begin
for marks := 0 to 39 do
begin
writeln(‘Enter ICT marks =");
read(marks);
ICT[marks]:=marks;
end;
readln;
end.

P 80000 anwsy 5D8®

var  num : array[0..4] of integer; ‘ num[0] ’ num[1] ‘ Num[2] ’ Num[3] ‘ Num[4] ‘

num[0]:= 50; >[50 | | | | |
num[2]:=45,num[4]:=70; ——» |50 ] | 45 | [ 70 |
num[1]:=num[4] + 35; — | 50 105 45 70
num[3]:=num[0]+num[2] ——» |50 105 45 95 70

39




P gbdm gnwsT yEersed sBBe.

writeln(num|[3]); -4 0 @Dwd® YRwWD 8B (95)

writeln(num[2],num[4]); -3,5 0 adwed gmonsd e3R8 (45, 70)

for x :=0to 3 do - 20000 8E§ 8Dwd 4 Yyrwd sFBHG(50,105,45,95)
writeln(num[x]);

for x :=2to4 do - @60D 3,4,5 e @Dwd 3 ymoawd sFBBE( 45,95,70)
writeln(num|[x]);

for x :=0to 4 do - 800D 8Bwd® 8Dwd Yrwd sBGS( 50,105,45,95,70)
writeln(num|[x]);

c¢.23: seBwm 8sd 40 ecomm ICT B8wd o Cmey aes W0 OO0 Cuen ©Y
CRMOE @10 OB ®DW BBO wews § siEHE HOeEIw.

program ictMarks(input,output);
var marks : array[0..39] of integer;
1, total, max : integer;
avg : real;
begin
for 1:= 0 to 39 do
begin
writeln('Enter ICT Marks =");
read (marks[i]); (* Read Marks to array *)
total := total + marks[i]; (* Add marks *)
end;
avg := total/40;
max := marks[0];
fori:=1to 39 do
begin
if marks[i] > max then
max := marks][i];
end;
writeln('Maximum marks=', max);
writeln('Average marks=',avg);
readln;
end.

> 80600 8¢5® W6 0 8oE HEWE HOED BBsvwex sum 8 gm. 9© HOED OE
8D HwidBs 819188 6 1ed® yBRomwesy Bwo ¢fdsys.

(1).
var students: array[1..5] of string[5]; {e®®8 string[5] Beso yBeomye DO 5 O B0 @D}
var num: byte;
begin
for num:=1 to 5 do
begin
writeln('Input Student Name =");
readIn(students[num]);
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end;
for num:=1 to 5 do

writeln(students[x]); } {gBooe 850 omdn]

(2).
var marks : array[1..5] of byte;
var X : byte;
begin
for x :=1to5do
begin
writeln('Input Value =");
readIn(marks[x]);
end;
forx:=1to5do
writeln(marks[x]); {eBeow 8¢do 006}
readln;
end.
BHwoOBw :-
yBeomw:-
(3).

var  Marks : array [1 .. 5] of Integer;
num : Integer;
Begin
for num:=1to 5 do
begin
Write ('Input student number ', num, ' mark: ');
41




readln(Marks[num]);

End;

for num:=1to 5 do

begin
Write('Student number ', num, ' mark is : ', Marks[i]);
if Marks[num] >= 50 then

Writeln(' Pass')
else
Writeln(' Fail");
end;
Writeln("Press enter key to close');
Readln;
end.
BB -
yBeasys:-

@@@@@“@ wo8mw - (Sub Programs)

DOeCFIe® BwWdE yreme DB ©OO® dw wBen O Bwr Bwdr oFGH® ®Be,
»OeFIs AT BIO OB »OYD 8wy 050ed. OO HOeED BOe® Yy HOEIW
OBDE (00 ¢ HOEED eC® ©m0E DRews’ Bwr (D v HOWE eCH WICOH.

BN PHOECEI® ¥ 8O ¢ PHOECED OBST Y HOeFEIW 00Dm YHLHWE gousey G 28O v
W eNR Daews’ 8 HPeED B8v ei¢mB. yBomw Gty G &8s VB v POE G ovwds
Functions egce ¢, yBoman sy G 8w 0B deovs @ mbvwed 9Omos o BHReED b
3036 ewds’ Procedures eces ¢ v1€z3d.

P co DOeED wEETD2E.

g HOeEIB §0®» BBOO yOwsy » ww 8w 833 VeI 86 GRw. HRB
DOeCEI® BEE co BHOeED OEO ¢®Bw (Calling the function or Procedure) gme.
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Procedure declaration
8w 3303w werIdl E®

Function declaration
Bow vesid 8®

Main Program

g BOeEI®

— statement

Procedure subl(var x:real);
begin
— statement

Function sub2(var x:real):real ;
begin

end;

|

begin
statement Return Output-gBcom e goesey R o3

Subl(value); g—— alling the procedure-me8w 3303w #@B®

V=sub2(value); Calling the function- §mw #©8®

statement
end.

—

o 8w 8303w eI 8O wewr B0 wadm 8B - (Syntax)
Procedure Name of Procedure(Var name of variable : data type) ;

G-

Daym w2 8838w @wd® wewr 8w 3303w

Procedure calculate Circumferance (var radius : real);

o Emwnr vegsIon 88 wewr BOG8 oo 8w - (Syntax)
Function Name of Function(Var name of variable : data type) : data type ;

Ce- Dadmwem D80dE® ewd® wewr §ma
Function calculate Area(var radius : real): real ;
c. 24: Dadnwm D80OEs ww 883w oemme BB wewr ®bw 83 0w EOD

DOeEIB @005 BO.

program procedure_circle(input,output);
const pie=22/7;
var radius:real;
procedure getData(var radius: real);
begin
writeln('Enter Radius');
read(radius);
end;
procedure processArea(var radius:real);
var area:real;
begin
area:=pie*radius*radius;
writeln('Area = ',area);
end;
procedure processCircumferance(var radius:real);
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var circum:real;
begin
circum:=2*pie*radius;
writeln('Circumferance = ',circum);
end;
begin
getData(radius);
processCircumferance(radius);
processArea(radius);
readln;
end.

> 000 pOeEdesd DE 8¢dm BwdBs 81880 e ® eony d¢ 8w ¢BOSIH.

ce. 25: Damem DEOHOE® 8w 888w vemw BBO wewr » 0w end HOEEIB
0®IRBO.

program function_circle(input,output);
const pie=22/7;
var radius:real,
function processArea(var radius:real):real;
var area:real;
begin
area:=pie*radius*radius;
processArea:=area;
end;
function processCircumferance(var radius:real):real;
var circum:real;
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begin
circum:=2*pie*radius;
processCircumferance:=circum;
end;
begin
writeln('Enter Radius’);
read(radius);
writeln(‘Circumferance =',processCircumferance(radius));
writeln('Area ="', processArea(radius));
readln;
end.

> 000 poeEdesd DE 8¢dm HwidBs 81880 e ® evm O HwidBw w®
yBm6 Bwo ¢BOBIH.

¢.26: o008 pdeEdewsd getData , process mult w» csmPeCEd e¢m mbww 8303

(procedure) wodmewsy Bwo @B @m»S process_sum & (function) wedmewsy Bwo gm.
000 »HOeCEIeL OE 8¢Dm BwWDE®W 1 EED eFG® 0w O® FwWDE®W &
gBmw Ewo ¢OsI.

program procedure_test (input,output);
var numl, num2,summation : integer;
procedure getData(var m1,m2 : integer);

begin
writeln ('Enter Number1');
read(ml);
writeln ('Enter Number2');
read(m2);

end;
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procedure process_mult (var x1, x2 : integer);
var ans : integer;
begin
ans :=x1 * x2;
writeln (‘result = ',ans);
end;
function process_sum (var pl, p2,sum : integer):integer;
begin
sum :=pl + p2;
process_sum:=sum;
end;
begin
getData (numl, num?2);
process_mult (numl, num?2);
writeln('sum of two numbers is',process_sum(numl,num2,summation));
end.

kokskokosk
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